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Chapter 6 Quiz

1. Select the incorrect statement from the following. 

a. Activity costs are often relevant for decision making because the cost of an activity can often be avoided if the activity is eliminated. 

b. If overhead costs are allocated on the basis of activities, the amount of overhead allocated to a particular product can be reduced by increasing the number of activities required by the product, thereby spreading the overhead costs over more units.
c. In highly automated environments where companies produce many different products with varying levels of production, activity-based cost drivers are typically more accurate than volume-based drivers. 

d. Activity-based cost drivers produce a better cost allocation than volume-based drivers because they distribute relevant costs to the appropriate products. 

2. Martin Tools produces a variety of scissors and other cutting instruments at its Robertsburg manufacturing plant. The plant is highly automated and uses an activity-based costing system to allocate overhead costs to its various product lines. The company expects to produce 24,000 total units during the current period. The costs and cost drivers associated with four activity cost pools are given below:
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Production of 1,000 units of a pipe-cutting tool required 400 labor hours, 12 setups, and consumed 30% of the product sustaining activities.  Total overhead allocated to the pipe cutting tool was $15,400. What amount of company-wide batch-level overhead costs was expected during the period? 
a. less than $5,000 

b. $20,000 

c. $13,000 

d. $60,000

e. None of the above 
3. The number of activity cost centers used by a company should 

a. equal the number of activities required to produce the product. 

b. be determined on a cost-benefit basis. 

c. be inversely proportional to the number of products it has. 

d. equal the number of departments it has. 

e. be based on the flexible budget.

4. Wheelie Company makes steel and titanium handle bars for bicycles. It requires approximately 1 hour of labor to make one handle bar of either type. During the most recent accounting period, Wheelie Company made 8,000 steel bars and 3,000 titanium bars. Setup costs amounted to $42,000. One batch of each type of bar was run during the month. If an activity-based costing system is used to allocate overhead costs to the two products, the amount of setup cost assigned to the steel bars will be 

a. $21,000. 

b. $12,600. 

c. $29,400. 

d. $42,000. 

e. None of the above

5. Ergonomic Company makes two types of chairs. One of the chairs is a rocking chair. The other is a straight-back chair. Both chairs are made by hand. Ergonomic Company uses a company-wide overhead rate that is based on direct labor hours to assign overhead costs to the two products. If Ergonomic automates the production of straight-back chairs and continues to use direct labor hours as a company-wide allocation basis, 

a. rocking chairs will be under-costed. 

b. straight back chairs will be over-costed. 

c. rocking chairs will be over-costed. 

d. there should be no impact on calculated unit cost. 

e. quality of straight-backed chairs will decrease.
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